AT I

1=
)

System
Products

EXHA

Industrial

BE}RAAAN (A=F) A57F—2 / 7= X 50%X50

Motorized Swivel (Tilt) Stages / Table Size 50xX50

RERA
Experi-
mental

FEEE
AF=
Manual
Stage

SAO05B-RTO2 SAO05B-RMO02
SA05B-RB02 SA05B-RS02 SAO05B-RLO2

=l KEERDIART B—r—TIOREF. RYPERBVET, £MIFFRIF40mMmERYET.

Rotation
o SA05B-RT02 *The length of the connector cable in the image is different from the actual one. The bending radius is 40mm.
CW Limit Sensor
24U Home Position @& 4H8 Depth 5mm
(I=+) CCW Limit Sensol 4-M3 Depth 4mm

4-M3 Depth 3.5mm

Swivel
(Tilt)
BEEE
ATF—=Y
Motorized
Stage

X-XY
XeXY

=|
Back Side

(15)

(65.5)
50
40
30

S - = ,,: E; o
e i q

- g K i

30 (28) 4.5 \

40 Depth 4mm 30 ®4H8 Depth 4mm

Z (105), 50 (90.5)

z (151)

(05)

@ SA05B-RM02 @ SA05B-RB02

[Ol%5 |
) ’7*L* \Rotati 7 —
Rotation | \Rotation Center ‘ otation Center I"\(Rotation Center

cw } ccw 1 }
i
|

50
68
Q
=
o
Q
=

A R)L i @)
— | ~ ]

(I=%) A R 0 - .@%_»LBT, | I cw

(Tilt) k! =] ka2 1 % ki P = P ‘\—f'-/'

18
86

Swivel
o

18
LR
,HQ
\

734 (a0 |\El - 1] | I —
= —] = o k; o
;;I::) 4-for M3 screws a0 |\@ gt 3 : %
XY6 Shaft length 3mm 4for M3 screws ) 2
@ SA05B-RS02 Shaft length 3mm C40 |\@
BHZE N

T— 4-for M3 screws
\/;;ZlumJ Shaft length 3mm
Stage
ThlfEEE

18

Control
Electron-
ics ﬂ ﬂ

=@ il
F—4— o Back Side
avhk0-5 ¢ 4H8 Depth 5mm
Motor 4-M3 Depth 4mm
Controller 4-M3 Depth 3.5mm

RS54\ >

Ry IR 2
Driver il
Box

77U
TF—ay
Applica-
tion
ET—9—
RSN\
Motor (15) 50 (90.5)
Driver 155.5)

==
T—=2 —7—1,—
Motor | \Rotation Center

Cable |
1153 cw } CcCcw

Appendix ~ 5 _ cww
v % 0 10 iy

® @
’ﬁm

[ cle 0
o 4z
n@a il mfm\\" @

o ) SO IS
595

® ®

(90.5)

Depth 4mm

4H8'

(151)

=]
=
A5 1
30| [f

50

Il

40
30
MRS
[
Bl
T e H

i

4-for M3 screws
Shaft length 3mm  s11e pepth 4mm /|15 ‘

(105)
&

@ SA05B-RLO2

w

50
68

o

(45)

Il
ji
Il

(46)

7t
JU—
Accesso-
ries

.18 .18

Gl

.18 .18

Gl

RE
VAT I
Inspection
System

K-010 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



B/ J0A0=FH4 K/ 94=L&7 =LK1 = .--.

Brass Body / Cross-Roller Guide / Worm and Worm Wheel

X

" SAO5B-RTO2 SAO5B-RM02 SAO5B-RB02 SAO5B-RS02 31 SAO5B-RLO2 2
odel Number
BFEOEKX
i BV ER 5 SAO5B-RT02-R SAO5B-RMO2-R SAO5B-RBO2-R SAO5B-RS02-RRR  SAOSB-RLO2-RRR
F—oLE
Table Size 50mmx50mm
RAFR BEoOAO0—SHCR
Guide Mechanism Cross-Roller Guide
B ] . . ; £10° (RM02),
Angular Range +10 +8 £10 +8°(RB02)
EUFR A — L&A — A — b
Lead Mechanism Worm & Worm Wheel
SHELE 232(RT02) 300(RM02)
Flzsligiian (et 232 oL iz 300(RMO2) 372(RB02)
TIIN—T R59T . ; . : . . |0.00156770.00078" (RT02). | 0.0012°/0.0006° (RM02),
AWHE | Ful/Hairsiep | 0001967000078 | 0.0012/00006° | 0.00096/0.00048" |g 0012700006 (RMO2) | 0.00096'/0.00048"(REO2)
Resolution | ¥44027 77 (1/203%) : . ; 0.000078°(RT02). | 0.00006° (RM02).
Micro Step (1/20 div) 0.000078 0.00006 0.000048 0.00006°(RMO2) | 0.000048° (RBO2)
BERE . . ; 7.75°/sec (RT02), 6°/sec (RM02),
Maximurm|Speed JERLEES 6%/sec e 6°/sec (RM02) 4.8°/sec (RBO2)
i ada 50mm=0.2mm 68mm=0.2mm 86mm=0.2mm 50mm=0.4mm 68mm=0.4mm
ork Distance
o DL ©0.05mm/£10° ©0.05mm/+8° ®0.1mm/+10° ®0.1mm/8°
otation Center Error
ﬁ’ﬁ‘g&fiﬁfg <£0001°(AVE. £0.0001°) | S£0.001° (AVE. £0.0001°) | S£0.001° (AVE. £0.0001°) <+0.001° <+0.001°
AARE 3 <0.003° (AVE. 0.00167) | <0.003° (AVE. 0.0011°) | <0.003° (AVE. 0.0009°) <0.003° <0.003°
gy <0.001°(AVE. 0.0002°) | S0.001°(AVE. 0.0001°) | 0.001°(AVE. 0.0001°) <0.001° <0.001°
E—XREIE 0.31 arcsec/N-cm 0.31 arcsec/N-cm 0.31 arcsec/N-cm . .
ST S (AVE. 0.205 arcsec/N-cm) | (AVE. 019 arcsec/N-cm) | (AVE. 0195 arcsec/N-om) | 0-92 @rcsec/N-em | 0.92 arcsec/N-cm
IKFEMRIE
Load Capacity (Horizontal) 29.4N (3ksf) 19.6N (2ksgf)
mE Hik
Material Brass
e EERE LT
Finish Chromium Matte Plating
BE
Weght 0.6k 1.2kg

SHEATVEVTE—5—
5 Phase Stepper Motor

PK525HPMB () I &L E—&—: ERERO.75A/H, BEART V7 0.36°, J—RREA)
PK525HPMB (Oriental Motor: Phase Current 0.75A, Basic Step Angle 0.36°, 5-Leads)

T—2—#E d5mm AT 3>/ \URIL A type
Motor Shaft Diameter d5mm Conformance option handle: A type
mESred AF20E> (EO+: RP13A-12JG-20PC)
Connector 20Pin Round (Hirose: RP13A-12JG-20PC)
AT —IfEHREAT
Stage Wiring Type X0 V3
T ERBR F-116(HOME,LIMIT), B§Fi&(Y: F-116R(HOME,LIMIT)

Sensor Model

F-116(HOME,LIMIT), Mirror Model: F-116R(HOME,LIMIT)

IU—=2 1) ZAEREIE

Clean Room Lubricant Model Number

SA05B-RT02-C

SA05B-RM02-C

SA05B-RB02-C

SA05B-RS02-C

SA05B-RL02-C

HZJUAHREN

Vacuum Lubricant Model Number

SAO05B-RT02-V

SA05B-RM02-V

SA05B-RB02-V

SA05B-RS02-V

SA05B-RL0O2-V

1

SA05B-RS02(%. SAO5B-RT02&£SA05B-RMO2D#AEDETY .

Combination of SAO5B-RTO2 and SAO5B-RMO02 form 2-axes swivel stage model

SAO5B-RS02.
w2
model SAO5B-RLO2.
%3

SA05B-RLO2(&. SAO5B-RM02&£SA05B-RBO2D#AEHETY .
Combination of SAO5B-RM02 and SAO5B-RB02 form 2-axes swivel stage

BFEV. BEROEBFICOVTIIK-005N—I28BLTTE.

Refer to page K-005 for Information on Standard and Mirror Symmetry

Configuration.

o F—N—KR—BIIBBRAEEENE LA,

TFEL.

Additional parts cost is not included on Overhaul cost. Refer

further information.

o 7 =27 AHROBRERRIC -C" PFEET.

EBRULTTE,

RIS OVWTIRIBR—Y&BRL

to page 16 for

FMIC DV TIXC-005NK—2

o

Clean room lubricant model has “-C” at the end of model number. Page C-005 for

further information.

) HZ2J Y AHHROBRIERRIC V" PHFEET. FHMRICOVTIEC-005N— %2

RLUTTEL.

Vacuum lubricant model has “-V” at the end of model number. Page C-005 for

further information.

E— R —HROFHBIC DN TIFC-004N—2 BB LTI EL,
Page C-004 for further information about motor change.

BREIWLWEDLEIE*TEL:044-981-2131,7 FAX:044-981-2181

%5

6

Stage is inspected by half step setting.

AT —VDOBRERIN-TATY T TIo>THVET,
A NIWAT—DEEDETE—X > MR O—LBIEERYET,

Moment Stiffness of single swivel stage is measured in Roll Direction.

AT — AR DFEIC DOV TIEIN-026~N-0272 B8R L TTF X\,

Refer to page N-026~N-027 for stage wiring connection information.

HWIETZHE—F—2> hO—F - RTANCDVTEN-002R—T BB L TTFEL,

Refer to page N-002 for information on corresponding motor controller and driver.

T BE—Z—T—TINIDNTIEN-014~N-015X—=I BB L TTFE,
Refer to page N-014~N-015 for information on corresponding motor cable.

PEEDIRLICKRGOTESE)ET.

FLUBERBETHHVADET L.

We appreciate the product customizing. Contact us for further information.

o FZIEHIIZDNWTIFO-001IRX=JABBLTT X0,
Refer to page 0-001 for information on accessory.

F 723N\ RILEO-008X—J BB LTTFEL,

Refer to page 0-008 for information on Option Handle.

) 2HATYEVTE—R—IHREEVET.

2 phase stepper motor is available.

[E-mail] sale@kohzu.co.jp [URL]

www.kohzu.co.jp

AT L
R

System
Products

EXR

Industrial

RERA
Experi-
mental

X-XY
X-XY

[ElEn

Rotation

AAN)L
(I=#)
Swivel
(Tilt)

S
25—

Motorized
Stage
X-XY
XeXY

[ElEA

Rotation

ZAR)L
(I=#)
Swivel
(Tilt)
734
XUk
AF=
XYe

Rz
27—
Vacuum
Stage

=S
Control
Electron-
ics

tT-5—-
avhk0-5
Motor
Controller

RS\
Ry IR
Driver
Box

77U
T—vav
Applica-
tion

tT—9—
[NE A
Motor
Driver

E==
7=
Motor
Cable

8%
Appendix

7ot
JU—
Accesso-
ries

RE
VAT L
Inspection
System

K-011



